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Fractions
m Revision _::-

1. Find two equivalent fractions for each of the following :-

a -%- b 15 = %— d TI%T_'F

¢ % f £ s ho 3
2. Simplify fully { where possible ) :-

a ]21_ b g— = %_5{ d %—E—

e -I%- f 1?% g %?T h %%-

3. Write each of the following as fractions and simplify fully :-
a At first year assembly there were 124 boys out of 240 pupils.
b At aschool fire drill there were 1650 people in the playground.
There were one hundred and fifty adults.

m Top-Heavy & Mixed Fractions ﬁ

cemis
: =

1. Change each of the following tep heavy fractions to mixed numbers :-

n%’- h%{ :13?— d%g—
B

2. bl kg of potatoes are packed evenly into @ bags.
What is the weight of each bag ?

3. Change each of these inte mixed numbers and simplify fully where possible :-

4. a How many %— pizza slices can you get from 5%— pizzas ?

b How many -15 pizza slices can you get from ?%— pizzas ?

¢ How many % pizza slices can you get from 4%— pizzas ?



Fractions

5. Change each of the following mixed numbers to top heavy fractions :-

1 1 2 4
3 2 3 3
T
m Adding & Subtracting (basic) Fractions ﬂ
- H
1. Find and simplify fully where possible :-
1 1 1 1 3 1 7 4
@ Tty b 7+ 71 ¢ 5*%5 d T+
3 1 =) 3 1 1 3 1
& L f TR g 41—*-3— h ?E--I-IE-
3 1 : -4l 3, 24 1.1
i sle2l j o-4l k 73+ 28 I sl-1l

2. Two caorafes of wine were poured into a punch bowl.

One carafe held % a litre of wine and the other held % litres.

"

a How much wine iz now in the bowl ?

B How much more wine did the first carafe held than the second ?

3. Aroomis 9%— metres long by Er;%_— metres wide.

a How much lenger is the length than the breadth ?
|

b Find the perimeter of the room.

m Adding & Subtracting (harder) Fractions X

=l
ooolio
]

1. Calculate :-

@ z*7 B 3ty ¢ 3% 4 §$+3

I I I L N 2T

i Lk i LI-% k &+5 1 2-3.
2. Find :-

a 5-3% b 12-64f e 6&-1% d 7% -53



Fractions

1. Write down three equivalent fractions for :-

a 1§ b % € % d %

2. Change each of the following to a top heavy fraction :-
a 5 b 4% ¢ 8% d 13

3. Change each of the following to a mixed number -
a % b % = lg—l d %

4. Find and simplify fully where possible :-
a 1.1 b 1l .1l e 3l.ag d 14-6%
e 4L -22 ¢ 75-5% g 8l -52 h ol-5%
i 7++15  j nds+sf k 5i-33 | 92 -8%.

5. Jamie wanted to run ID% km during his race practice.

He only managed to run EE— km.

How far short was he of completing his practice ?

6. a Calculate the perimeter of

the rectangle shown.

o
ol 4m
g

b How much longer is the

length than the breadth ?

7. Write the sum represented by the diagram below :-

g N
DY Q' ¢




Answers

Exercise 1 - Kevision

1. a 2443/
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4, B/g

]
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Exercise 3 - Add/Subtract Basic Fractions

1

a s b
e /g f
i 10W:

2. a ¥y litre
3 oa IWaem

Lis e
1, g
43/, k
b
b

S d 1
A, h B
10 | 41/,
Lis litre

3Zm

Exercise 4 - Add/Subtract Harder Fractions

1

a Iy b
e 542 f
i *Bligs |
a1y b
e 3/ny f

Rewview - Rewisit

1 a 24 3/
¢ 1850, 273,
2 a s b
3. a 3%/; b
4 a Ty b
e 23, f
i BL3/g
5 17/g km
6 a 29%pem

Tz c
Blzs g
531 &
3y g

b
d
14.-"3 -
20/ c
28/ ©
2w g
2019/, k
b

T 5'f3+1."';5| :'&fﬂ_ :3.1".4

2;3

I5-Il||'?.2

180/ g0 = 111

Exercise 2 - Top-Heavy and Mixed Fractions

1. a 14/
e 11/,
2. 52/3kg
3. o 44,
301/5
11
19,
36/,

h

e
a
a
[

b
f

BTl - R -

51/,
8l/s

51/s
123/5
23
19.!"_3
123/,

[¥=]

L= T I Y= T v ]

52/; d
40%5 h
141/, d
5554/5 h
27

B/3 d
1220

8l/g
135/)2

Blia
121/

BQ;E
-1-IJE|;5

- Revise Exercise 9

T/ d 1o
1B/36 h 1%2/sg
3;4 | 11.-"3.4

56/, d 2lag
12904 h 13/

0. %15

22424, 335,

EB.-"T d EIJI.-'“

112/ d T

S d Tia

272 h 34
123/, | 1l

219720 em



More Fractions
Exercise 1

1. Copy the following and complete :-

Multiplying Fractions

i

£ x

2=

=

?
k)

J
[
]

?
= 5

r

Multiply the following fractions and simplify (where possible) :-

a -%— ® %— b I%— X g— € %_— * %— d %- x %}-

e —i—x%—x%— f %—x g-xg- g %x%—x%— h %I-x%-xg-.

Calculate the area of a square with side g— metre.

A cuboid has dimensions as shown. 3 m

Find the volume of this cuboid in cubic metres. Sm
&m

Do the following and simplify wherever possible :-

a 13x23 b 2% x5% e Tix2} d 1£x2%

e 4kx2i f 22 x3% g 14 x1t h ol x 1

" D A one metre length of pipe weighs 9%— kg.

\ J

What would a E%— metre length of pipe weigh ?

[T

Division of Fractions %

Divide the following fractions and simplify (where possible) :-

3 _ 3 i .7 2 .4 5 _ 4
@ T*§ b g7 L 2 d ¥=7
7 _5 g . 2 13 . 3 1 1
e T f g+3 s T*F h z-+g
R I . 9 .3 K 2.3 T
TEF i ®¥ AT T %

a  How many Tlﬂ-'s are there in g—'s ?

b How many strips of wood 1% metre long. can I cut from a piece % metre long ?



More Fractions

3. Find the following :- (Simplify if possible) -
1 .41 1 .41 . .
1 _ a6 2 .13 .92

4. The area of a rectangular garden is 1?%— square metres.
It is T%— metres long . Calculate its width.

FEE]
m Mixed Exercise g

1. Change to a mixed number :- a -152— b %
2. Rewrite as a top-heavy fraction :- a Tg— b ﬂ%—.
{F 2
3.  How many L pizza slices can by sold from 42 pizzas ? -
5 5 W)
e e
4. Copy ond complete :- v
3 . 2 ] 3 3 3 3 3]
a g--l--g- b 7 [ 45--&21— d IEI_TT
5. Copy and complete :-
1 1 1 3 3 .1 1 .4l
a T.KE' b 3'5':(23- 1= T~T d IG?_EF'

6. Anempty metal coge weighs 4% ko. ..____ l ‘
It holds B large watermelons. |
Each watermelon weighs lg— kg. j]
Calculate the total weight of the cage and watermelons. h.

The area of this rectangle is 3% cm2,
Its breadth is 1;11— cm.

Calculate its length.




Answers

thd Ex1

L Wyp=8y
2 a Yy
d
g Y
3 Bige sqm
4 Lig cubicm
B oo 4%
d 1,
g 1Y
6 24kg

Cthd Ex2

'3

By

13"'15

[= T = N = = T = TR =}
G
.
™

4 2lm

Ch8 Ex3

L a 2%

2 o Yy

3 23

4 a Tig
c Tl

Multiplying Fractions

o

The
£ 3.";3
h T

o

128/
g ';."m
h &

[ ]

[ ]

Tha
Ly

[ivision of Fractions

b Ei."-;

e T
h 2

k 4
b 10

b 1
e 1l

h 142/

Mixed Exercise

b 85/

b %
.
d 4%5 ag

- ™

2
4;3
324’45'
EL}
! Il-'rIE.

184

5 a L
c 3
19 22
7 2283 om
ifﬁ
ChB
L a 5l
c 4%
2 a '3.-'5
c 83y,
3 =
4 a Yy
d Tiag
g 4%/
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d L
g 1lg
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b
d

o

T =T o o

L= = o
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alys

[

Revisit - Heview - Revise B

T 7ig
3l
qua
584

L
5 lis
13 Lsq
114
115
10

A3

l&?ET

°
33y

36273 kg



Coordinates

m Coordinates in 4 qhndrnnts

¥
1. Write down the coordinates of :- L A
g
a each point shown in the diagram. A(-3. 4) B
4 ¥
the point on the y axis. -
3 \.I—h
¢ all the points with the of "—’—{
< : 2 -
same x coordinate. I o
d all the points with the s
same y coordinate. *
4 3 2 10 2 3
¢ the point with the same -1 =
xand y coordinates. 2
f the fourth vertex, P of the b 3
rectangle DABP.
4
2. a Copy the same axes grid from question 1.
Plot the points P(2. 3). @Q(4.0). R(2.-3). 5(-2.-3). T(-4.0).
¢ Plot the point U, where PQRSTU are the vertices of a hexagon.
3. Look at the diagram shown. Y
a Write down the coordinates o 3
of R, Sand T. ¥ 4
b Reflect RST over the x-axis 3
and write down the coordinates 5
of R'S'T.
1
¢ Reflect R'S'T over the y-axis T
and write down the coordinates 4 3 2 10 > 3
of R'S"T". -1
-2
4. The vertices of a triangle reflected 3
over the y-axis and then the x-axis
are A(1, 5), B*(7. 0) and C"(2. 2). 4
State the coordinates of the

original triangle ABC.




Coordinates

Revisit - Review - Revise Exercise 5

Y&

1. Write down all the coordinates :- 5

shown on the diagram. 4

b that lie on either axes. 3

¢ that have the same x and P 2
y coordinate. : L
2. PJISM are the vertices of 4 3 1 0 2
a parallelogram. -1 G

State the coordinates of vertex S. -2

N 3

il -

3. a Copy the axes above. »

b Plot the points R(1, 3). 5(-4. 2).
T(-3.-2) and U(2. -4).

Draw a vertical line which cuts through (2.0).

d Reflect RSTU over the dotted line.




Answers

Exercise 1 - Coordinates in 4 (Juadrants

1. a A(-3.4) B(2.4), C(4.-3). D{-3.-3).
E(3.-1). F(0.-4), &-2.0)

b F c A&GD d A4&B,L D&C
e D f P{-2.-3)
2. a/b 5See diagram e W-2.3)

3. a R(-1.4), 5(4.3). T(2.1)

b see disgram - R'(-1.-4), 5'(4.-3). T(2.-1)

¢ see diagram - R°(1.-4), 5"(-4.-3), T(-2 -1)
4. A(-1-5), B(-7.0), C[-2.-2)

Review - Rewvisit - Revise Exercise B

1 a I{4.3). J(2.1). K(2.-1). L(5.-2).
M(3.-3). N(-3.-3). P(-3.2). Q(0.4)
b Q04) ¢ MN{-3-3)
2. a 5(2-4)
3. a/bfc See diogram
d R'{3.3). 5'(B.2). T(7.-2). U(2.-4)



Percentages
m Percentages - no calculator g

1. Find each of the following without a calculator :-
a 10%off£24 b 30%of £420 e 20% of $5656 d 33-13-".".': of 690 kg

e 2b%off£32 f 75%ofB0Om g ﬁﬁ%%ﬂf,?‘?km h 5% of $600

i 3%of £7 J 22%:}1‘?(*]0 k 2b%of160cm | 36%of €700

2. a A shop is giving a 20% discount on
a £240 exercise bike.

How much is the bike now ?

b Julian cycles 30 km per day every day.
He iz going to reduce this by 16%.
How many km will he cycle next week ?

3. A bonk pays an annual rate of 5% interest on their High Fliers account.
Gaz leaves £4800 in his account for a year.

How much interest will he have after :-

a oneyear b six months ¢ three months ?

4. Five hundred students were asked their favourite take away.

40% - Pizza 36% - Chinese 20% - Indian  the rest - Chip shop
How many students chose :- a Chinese b Chip shop ?
_ ()
m Percentages with a calculator ==
1. Find using a calculator :- (Show all your working)
a 23% of 136 km b 76% of 78 kg ¢ 19%of 320m
d 385%of £700 e 06%of $1260 f 12-6% of €40

g 9% of £340 h 111% of 750 km i 37%of £10.



Percentages

2. a A farmer has 3200 chickens. 32% have cought a virus.
() What percentage of chickens do NOT have a virus ?

(i) How many chickens do NOT have a virus ?

b Minety percent of the chickens produce an egg every day.

How many eggs are produced every week ?

¢ 2'6% of the weekly produce has to be destroyed.
How many eggs are destroyed ?

Last November, MNorma weighed 64 kg.
After Xmas, her weight had increased by 9%.

What was her weight after Xmas ?

4,  Twins Jee and Jack are sales directors whe earn £28 000 each.

+ Joe is given a wage rise of 7-6%.

* Jack has his woage reduced by 4%.

How much mere does Joe now earn than Jack ?

m Linking fractions, decimals & percentages L_:T \/
paalla

1. Change each of these fractions to percentages. correct to 1 decimal ploce :-

u%— h% :% :I—IE?DE—.

2. Heather scored the following in four tests :-

Maths - % English - %%—

French - %’_—%— Music - -1%-

Change each test mark into a percentage.

Which was her best score ?

3. Re-write the following in order, smallest first :-

a 05, 47%, % 0-49 b 45%of £72, %uffﬂﬂ. 0-04 x £804.



Percentages

1. Change each of the following into a fraction in its simplest form :-
a BO% B 26% e 76% d 33333.%
e 60% f 70% g 5% h T7%.

2. Change each of the following to a percentage :-

a 043 b 009 e 03 d 0225
e £ f = g 125 ho 11

3. a David gets a 10% increase on his £1640 monthly wage.
How much does he now earn ?
b Angela has her £640 weekly wage decreaszed by 16%.

How much is her weekly wage now ?

Revisit - Review - Revise Exercise 6b IE|

1. Find using a calculator :- (Show all your working)
a 27% of 2300 km b B7%of 18 kg ¢ 13% of 608 m
d 275% of £1100 e (3% of $4500 f 106% of €400
g 07bx£340 h 01 x5560 kg i 0005 x 8600
i % of $810 k = of 8855m | & of 520 km.
2. Keith earns £18 400 per annum as a plumber.
How much would he earn if his salary was :- '
a increased by 17% b decreased by 96% ? =
3. SpotsAlive buy football strips for £25.

They intend to sell them at a profit of 268%.
How much should they sell each strip for ?
4. A car costs £8600 cash.

VirgoCars let you pay a 16% deposit and
36 monthly payments of £224-35.

How much cheaper is it to pay cash ?




Answers

Exercise 2 - Percentages with a Calculator

1. o 3128kmb 5928kgc 60Bm
d £26950e $756 f €5
g £3060 h 8325kmi 37p
2. a (i) 8% (i) 2176 b 20160 c 504
3. 6976 kg 4 £3220

Exercise 3 - Linking Fractions, Decimals % %ages
L a667% b 143% ¢ 789% d I775%
2. a Maths - 83%, English - 81-23%.
French - 73-3%. Music - 70%
b Maths (obvicushy)
3 o 4T%-2%/s0-049-05
b 2/3 of £48 - 004 « £804 - 45% of £72

Review - Revisit - Revise Exercise Ha

1 a lfz b L1/ c /4 d L3
e /8 f o g W h /e
2 a 43% B 9% ¢ 30% d 229%
e 6666.% f 80% g 125% h 130%
3 a £1804 b £544

Review - Revisit - Revise Exercise 6b

1 o €621 b 1026kge 7904m
d £30250e $1350 § €420
g £255 h S5kg i 43
j $540 k T0B4m | 480 km

2 o £21528 b £16652

3 £32

4 £85260

Exercise 1 - Percentages - Mo Calculator

1

fwa

[T = T = T = T ]

£2-40
£8
Z1p
£192
£240
175

b
[
i

b
b
b

£126 ¢ $11 c 230 kg
375m g 26km h $30

1540 Kk 4em | €243
1783 ki

£120 ¢ £60

25



Algebra
==n

1.

Multiply out the brackets :-

a 2(a+h) b 3(x+2)

e 2(x-3) f bn-2)

i B(m-4) J 2(1-u)

m da+ b) n 2(c+d)
20(3 + x) r 3004 -w)

Remove the brackets :-

a 2(3x+1) b 2(4a+3)

e 7(7Th-2) f 8(5-4n)

i 2(bb-4c) ] T(10k-2p)

m ww-1) n ala-3)

q p3g+r) r ba(2 - 4a)

u  B(2v+ow+8y) v 3(bx-2y-4z)

Rewrite the following without brackets :-

a -3(x+1) b -2(a-5)
e -bB(p-q) f -x(x+7)
i -KTk-1) j -4e(2e+10)

Worite the areas of these two rectangles :-
(ANl units are in centimetfres).

a

X+ 6

= WD 2]

=]

= W 2]

=]

6(g+1)
8(p-1)
7(2 - x)
B(m- n)
100(a - 3)

3(1+54a)
6(5a+ y)
Xy+2)
Al-p)
2u{10u - ¥)
10(p+ g-4r)

~(m+ n)
-p(1+p)
-x(3y - 8x)

with brockets

-+ O

* =+ O

(VHIN]

x

7(m+4)
10(t- 4)
15(2 + K)
10(d - e)
50(g - 6).

4(3 - 5K)
2(61+22)
a(b - 8)
X2+ x)
2(3a+ 2b+ 1)
8(3u-5v-9).

{(m- n)

h -2u{w+9)

- (p- 109).

(i) without brackets.
10-a




Algebra

1.  Multiply out each bracket :-

a 3(x+4) B Tly-3)

e yy+2) f o kk-3)

i -3(g+B) § -4(2f+6)
m —yy+ T n -h(h-3)

2. Write down the area and perimeter

of this rectangle -
a using brackets

b without brackets.

m Breaking Brackets

Lj]

r W

5(2k + 5) d 1(6y-7)
u(3u=+4) h 3r(3r-4)
-5(j- 2) I -2(3f-8)

-2w(2w+ 1) p -5k(3 - 4kK).

s

Jx+ 4

m Breaking Brackets and Simplifying

1.  Multiply out the brackets and simplify fully where necessary -

a Blk+2)+3

d B+2(f+3)

g 3(w-1)+2(w=+1)

i 3w-(w+4)+2(2-w)

I 3p+2(4p-6)-(9p+12)

2. Calculate the shaded
area of the rectangle
shown, in terms of

b

e
h
k
m

8(2y + 4) -12 e 7(3e-2)+11
11-3(3+w) f 16-(g+15)
A42y-3)+ 5[4y + 3) i 2(4r+3)-6

4(3y+4)-2(5y-1)- 18
B(3-2m)+3(2m-6)-4(1-8Bm)+2m+7.




Solutions

Exercise 2 - Breaking Brackets

1

Ix+ 12
10k + 25
yi+ 2y
Iz # 120
-3g-15
-5j+10
2 -Ty
Hwz - 2w

o I X W A 0 o

2. a Az-Z2x(3x+4)

b

- s — i T o= A

Ty-21
Boy- 77
ke - 3k

Qrz - 12r
-B+-24
-6f + 16
-ht + 3h
-15k + 20Kk

B A-bx?+Bx

Exercise 3 - Breaking Brackets & Simplifying

loy+20c 2le-3
2-3w f -g

1. a Sk+13 b
d 2++14 e
g dw-1 h
j 0 k

2By + 3 i
2y

| 2p-24 m 30m
2. Az2¢(Oy-8)-yoy-11=10y2-loy-6y2+y

A = dy2 - 13y

Bgr



Equations
m Solving Equations §

1. Copy each eguation and solve to find the value of x:-

a x+06=11 b ox+1=23 ¢ x+7=6
d x+14=14 e x-7=8 f x-3:=2
g 13+x=17 h Q+x=7 i 17 - x=-17.

2. Copy eoch equation and solve to find the value of the letter :-

a 4x=12 b Bp=35 c 6k=24
d 3h=33 e 4g=-bot f 7"n=0
g 4m=144 h 6c=9 i Bd=1

3. Find the value of xin the following equations (Set down ALL your working).

a 2x+6:=14 b Bx+4=-29 c 4x+7 =39
d 3x+1=31 e 4x-8-=-16 f 7Tx-11=3
g 10x-9=-41 h 3x-6=0 i Ux-7=37
J bx-3=12 k Bx+12:-15 | Qx+1=43,
o
m Harder Equations ¥
s r
1. Copyand complete - a Bxws+l =t6x+17 b Tx-3 =x+15
*(You may have been shown i) 2)(21- 1 :_ i) 7x _7 i
a different method) = AT = H T
=2 X T =2 X = am
L
2. Solve these equations :-
a bx+4:=-2x+19 b 3x+7T=x+11 ¢ Bx+6=Tx+22
d 4x-B=-x+16 e llx-1=2x+17 f Gx-4=-4x+23,

|3. These equations are a little "different”. Solve :-
a Bx=-4dx+3 B 3x=-x+44 e Tx=4dx+42
d 12x=8x+1 e 1bx=3x+18 f 6Gx-2=-8x

4. Joe bought 5 bags of marbles. Harry bought 3 bags. but he already had OUO
20 loose marbles. They then had exactly the same number of marbles. wew
a  Make up an equation to show this information. Oew

b Solve the equation to determine how many marbles there are in a bag.



Equations

TR
m Solving Equations with Brackets ﬁ

1. Solve these equations by multiplying out the brackets first :-
a 3(x+4)=21 b B(x+2)=80 ¢ 4x-3)=28

d 9x+2)=63 c

2. Solve these equations :-

B(x+T)=72 f 3(x+3)=0.

a 2(4x+2)=20 b 3(2x-1)=21 e 4(4x-5)=28
d 6(2x-1)=10x e 10(3x-3)=1lx+8 f 7T(x+9)=06x
3. Saolve -

a Z2(x+4)-x-6=7

e Hx+2)-3x=14

e 33x+2)+Hx-1)=6x+9
g 3x+7)-4{x+3)=10

i 3(3x+1)-2(x-5B) =x+ 37

F = O OT

I(x+1)+3x-8=13
B(x-2)+2x+6=10
2(bx-4)+6(x+1)=3x+ 24
2(x-3)-3(x-4)=7
13(5+ 3) - 2(3x + 11) = 2x + 7.




Answers

Solving Eguations

ths Ex1

_.H_Md..

15
-2

12

o=t
[P
o
.mlru_.-..._
= I I L] =
n
[
L
L3 o
-.J.:._I_
T n
S
S el ¥
T ;o= —

Harder Eguations

ths Ex2

16
f E??g

2

14

-1

15 f

e 18/

Liy

a Bx

i8]

Ix+ 20

4

Lolving Egquations with Brackets

ths Ex3

o

12

-43

-1

-1



